
6127 6127.5 6128 6128.5 6129
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

6389

6389.5

6390

6390.5

6391

6391.5

6392

6392.5

6393

ru
n

run:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6391}



6127 6127.5 6128 6128.5 6129
cyclenum

78.5−

78−

77.5−

77−

76.5−

us
l_

1X
usl_1X:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

1.5−

1−

0.5−

0

0.5us
l_

4a
Y

usl_4aY:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

51

51.5

52

52.5

53

us
l_

4e
X

usl_4eX:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

15.5

16

16.5

17

17.5

us
l_

4e
Y

usl_4eY:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

32−

31.5−

31−

30.5−

30−

us
l_

12
X

usl_12X:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

6389

6389.5

6390

6390.5

6391

6391.5

6392

6392.5

6393

ru
n

run:cyclenum {run == 6391}



6127 6127.5 6128 6128.5 6129
cyclenum

107−

106.5−

106−

105.5−

105−

us
r_

1X

usr_1X:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

0.6

0.8

1

1.2

1.4

1.6

1.8

2

2.2

2.4

2.6

2.8

us
r_

4a
Y

usr_4aY:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

148.6

148.8

149

149.2

149.4

149.6

149.8

150

150.2

150.4

150.6

150.8

us
r_

4e
X

usr_4eX:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

11.2

11.4

11.6

11.8

12

12.2

12.4

12.6

12.8

13

13.2

13.4

us
r_

4e
Y

usr_4eY:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

32.8−

32.6−

32.4−

32.2−

32−

31.8−

31.6−

31.4−

31.2−

31−

30.8−

30.6−

us
r_

12
X

usr_12X:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

6389

6389.5

6390

6390.5

6391

6391.5

6392

6392.5

6393

ru
n

run:cyclenum {run == 6391}



6127 6127.5 6128 6128.5 6129
cyclenum

16837.2

16837.4

16837.6

16837.8

16838

16838.2

16838.4

16838.6

16838.8

16839

16839.2

16839.4

us
l_

co
il1

usl_coil1:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

3455.5

3456

3456.5

3457

3457.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

3161

3161.5

3162

3162.5

3163

us
l_

co
il4

usl_coil4:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

939.5−

939−

938.5−

938−

937.5−

us
l_

co
il6

usl_coil6:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

12628

12628.5

12629

12629.5

12630

us
l_

co
il7

usl_coil7:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

6389

6389.5

6390

6390.5

6391

6391.5

6392

6392.5

6393

ru
n

run:cyclenum {run == 6391}



6127 6127.5 6128 6128.5 6129
cyclenum

16504.5−

16504−

16503.5−

16503−

16502.5−

us
r_

co
il1

usr_coil1:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

3166−

3165.5−

3165−

3164.5−

3164−

us
r_

co
il3

usr_coil3:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

3009.6

3009.8

3010

3010.2

3010.4

3010.6

3010.8

3011

3011.2

3011.4

3011.6

3011.8

us
r_

co
il4

usr_coil4:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

558−

557.5−

557−

556.5−

556−

us
r_

co
il6

usr_coil6:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

14313.6

14313.8

14314

14314.2

14314.4

14314.6

14314.8

14315

14315.2

14315.4

14315.6

14315.8

us
r_

co
il7

usr_coil7:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

6389

6389.5

6390

6390.5

6391

6391.5

6392

6392.5

6393

ru
n

run:cyclenum {run == 6391}



6127 6127.5 6128 6128.5 6129
cyclenum

441.5−

441−

440.5−

440−

439.5−

1X
_c

oi
l1

1X_coil1:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

71.5−

71−

70.5−

70−

69.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

22

22.5

23

23.5

24

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

474−

473.5−

473−

472.5−

472−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

90−

89.5−

89−

88.5−

88−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

19.6

19.8

20

20.2

20.4

20.6

20.8

21

21.2

21.4

21.6

21.8

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6391}



6127 6127.5 6128 6128.5 6129
cyclenum

172.5

173

173.5

174

174.5

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

35.5

36

36.5

37

37.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

9.5−

9−

8.5−

8−

7.5−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

182.5

183

183.5

184

184.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

27.5−

27−

26.5−

26−

25.5−4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

8−

7.5−

7−

6.5−

6−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6391}



6127 6127.5 6128 6128.5 6129
cyclenum

237.5−

237−

236.5−

236−

235.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

84−

83.5−

83−

82.5−

82−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

3

3.2

3.4

3.6

3.8

4

4.2

4.4

4.6

4.8

5

5.2

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

4.6

4.8

5

5.2

5.4

5.6

5.8

6

6.2

6.4

6.6

6.8

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

434.4−

434.2−

434−

433.8−

433.6−

433.4−

433.2−

433−

432.8−

432.6−

432.4−

432.2−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6391}

6127 6127.5 6128 6128.5 6129
cyclenum

6389

6389.5

6390

6390.5

6391

6391.5

6392

6392.5

6393

ru
n

run:cyclenum {run == 6391}
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